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9. Given the demand function as p = * q 3, consumer's surplus at = 25 is:
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10. The demand and supply functions are given as : P, = 30 = S5x and P; = 3x - 10
respectively(x=quantity).The consumer surplus is / /
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12. Given the saving function 5= -20 + 0.2Y and autonomous investment ([} = Rs. 100 million, the -
equilibrium of level of consumption would be — ; .r % r 6 ? 0 ; 1 31 ’o
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13. In an economy, the saving and investment functions are given as :
S=-100+0.2y y®
1==30401y

What will be equilibrium level of income ? S = I
P P —




13. In an economy, the saving and investment functions are given as
$=-100+02y y*
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What will be equilibrigm level of income ? = 1 - o - 12\:-
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14. Given the consumption function, C = 0.8Y, and the investment function |

=102 - 0.2i, then the IS-curve is =
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15. Given the production function

Q=2.KV3 | ]

. find the output level when 8 units of capital and 27 units of labour are used.
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(8] 54
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16. Consider an ecanomy with a linear homogeneous Cobb — Douglas production function with
two inputs - capital and labour. The share of capital and labour are, respectively, 1/3 and 2/3.

The rates of growth of capital and labour are, respectively 6% and 3% per annum. If the rate of
growth of output is 6% per annum, what is the rate of growth of output due to Total Factor
Productivity (TFP)?

17. When nominal GDP is 11,000 crores and real GDP is * 10,000 crores, GDP deflator is:

A 9.08 B.90.91 [ 55 § D.110




19. Match the Economists with their field of contribution in
Mathematical economics

List | Listll

{a) Slutsky {i) Linear programming

(b) Arrow {ii} Input - output analysis

(c) Leontief (iii) Consumer behaviour analysis

{d) Dantzig (iv) CES production function

Choose the right combination

1. (a) =i, (b) = iv, (c) - i, (d) = iii
2. (a) — iii, (b) - i, {c) —ii, (d) — i
3. {a) =i, (b) i, (c) - i, (d) — i
4. {a) = i, {b) =i, (¢} = i, {d) = ii

20. Which of the following is condition of economic viability and technological feasibility

of Leontief's static system?

A. Marshall-Edgeworth conditions

B. Kuhn-Tucker conditions

C. Hawkins-Simon conditions

D. Value of the objective function of primal problem should equal the value of the
objective function of the dual of the primal

1in quantitative research oacadics whrc%Mng

samplin met s are given preferencel
J.Sumpie random sampling

Jﬁ‘;tranfwd sampling

C.Quota sampling

D.Snowball sampling

GSystematic sampling

Choose the correct answer from the options given below

1. A, Band Conly

2. A BandEonly

3. B,Cand D only

4. C,DandE only
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Which one of the following denotes the probability of
wll hypothesic when it is false?
[arsprobabh1 of T »u:l or and b is probability of Type Il
error]
(A)a
(B)b
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3.In a multiple linear regression with independent yasiables,
the overall regression’s su:_ﬁcance is to be tested. Which
test would be used?

e —

1. Ztest

test
3. Chi-square test
4. t-test

—

4.In a frequency distribution the standard deviation of which is 20,
the value of median is more than mean by 6, what will be its
coefficient of skewness ?

(A)-0.76
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6.Given the following data When Number of

observations = 140 Arithmetic Mean = 200
Variance = 256 then coefficient of variation will b
—

(1) 12.4%
(2) 10%
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4) 1.8°
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